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One thing that is obvious about a decentralized market oriented economy is that it seems to produce a very wide distribution of income. Some individuals become extremely wealthy while others remain very poor. 

According to Professor John Palmer, when the development of the Law of Diminishing marginal returns, we simplified our analysis by concentrating on just two inputs in the production process: labor and capital. There are two ways of viewing the firm’s input use of decisions by looking at some graphs. In the first approach, we consider the firm as hiring increasing amounts of labor while holding its amount of capital fixed. The graph below shows the diminishing marginal productivity of labor. As the labor force gets bigger and the stock of machines does not, each individual worker has a smaller quantity of machines to work with and less productivity. 
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The second way of viewing the diminishing marginal returns is to consider the firm as hiring more and more capital while holding the size of its labor force fixed. The graph below shows the diminishing marginal productivity of capital. As the quantity of capital gets bigger, with the size of labor force fixed, each additional machine has a smaller quantity of labor to work with; so it ads less to the firm’s total output. 
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We might expect the labor movement to oppose payroll taxes whether they are levied on the employer or the worker since labor bears the full burden of the tax. In either case, given this result, you might also expect that labor would favor cooperate profit tax. But the cooperate profit tax is another very specific levy. It taxes only income that is derived from earning capital. And effectively, it taxes primarily capital employed in our country. This is a long way from taxing a Canadians income, whether that income is labor earned or a return on capital that is employed anywhere in the world. Because the cooperate profiteers tax is so much different from the general scheme, it does not have the effect that most people expect

Why do we levy the highest marginal tax rates of such low-income individuals?    

